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5. With each question you will find 4 possible answers
marked by the letters A, B, C & D. Read cach
question carefully and find out which answer,
according to you, is correct/most appropriate/best.
Indicate your answer by darkening the appropriate
circle completely in the OMR Answer Sheet
corresponding to the question. For making answers
use black ink ball point pen only.

If ‘B’ is the correct answer in a case, mark as
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. If there is any difference between English version
and the corresponding translated version in Bengali
of any question, then the English version will be
treated as authentic.

. You can use the blank space of the last page for
rough work. Do not tear it off from the Question

Booklet.

. After the examination has been over, you must
submit your OMR Answer Sheet and Question

Booklet.

OMR Answer Sheet is designed for computer
evaluation. If you do not follow the instructions
given above and shown in the OMR Answer Sheet,
it may make evaluation by computer difficult.
Any resultant loss to the candidate on the above

account shall be of the candidate only.

There will be negative marking for wrong choice
of option. One mark will be deducted for every

2 (two) wrong answers.

Carbon copy of the OMR Sheet will be l}anded
over to the Candidate after cqrqpletlon of
examination with Signature of Invigilator
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1. Madreporite is associated with
(A) Water vascular system
(B) Canal system
(C) Blood vascular system
(D) Digestive system

2. Which one of the following molluscan
groups is primarily used in the pearl formation?

(A) Monopalacophorans
(B) Cephalopods

(C) Gastropods

(D) Pelecypods

3. Brackish water is
(A) saline, shallow, well oxygenated.

(B) ecotone of marine and fresh water
habitat.

(C) rich in nutrients.
(D) All of the above

4. Physazlia is a coelenterate which is also
known as

(A) Seapen

(B) Sea fan

(C) Portuguese man of war
(D) Sea anemone

5. Stinging capsule present in Cnidarians is
called
(A) Nematocysts
(B) Choanocytes
(C) Cnidocytes
(D) Both (B) and (C)
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6. Reproduction in protozoa involves
(A) binary fission.
(B) asexual reproduction.
(C) sexual reproduction.
(D) All of the above

7. Thedisease pebrine thatoccursin silk worms
is caused by members of the phylum

(A) Myxozoa

(B) Acetospora
(C) Microspora
(D) Ciliophora

8. This about Class Amphibia is correct—
(A) fertilization is internal
(B) respiration is through gills only
(C) body is divisible into head and trunk
(D) Both (A) and (B)

9. The skinof mammalsisuniqueinpossessing
(A) moist gland
(B) hair
(c) dry
(D) scale

10. Sweat glands in mammals are also called as
(A) sudoriferous glands
(B) oil glands
(C) scent glands
(D) sebaceous glands
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11. Select a food-borne toxin.
(A) Botulinum toxin
(B) Tetanus toxin
(C) Diphtheria toxin
(D) Cholera toxin

12. The membrane around the vacuole is known
as

(A) Tonoplast
(B) Elaioplast
(C) Cytoplast
(D) Amyloplast

13. A plant cell wall is mainly composed of
(A) Protein
(B) Cellulose
(C) Lipid
(D) Starch

14. Which of the following nerve s responsible
for sense of taste?
(A) Abducent nerve
(B) Facial nerve
(C) Hypoglossal nerve
(D) None of the above

15. Which of these statements is true about
internal respiration?
(A) Production of ATP
(B) Exchange of gases between the
bloodstream and tissue cells

(C) Exchange of gases between alveoli
and the bloodstream

(D) Breathing between the atmosphere and
the alveoli
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16. Aftercross-fertilization of true-breeding tall
and dwarf plants, the F1 generation was self-
fertilized. The resultant plants have genotype in the
ratio

(A) 1 : 2 : 1 (homozygous tall :
heterozygous tall : dwarf)

(B) 1 : 2 : 1 (heterozygous tall :
homozygous tall : dwarf)

(C) 3:1 (tall : dwarf)
(D) 3:1 (dwarf : tall)

17. Which among the compounds were formed
during the origin of life?
(A) Urea, amino acid
(B) Urea, nucleic acid
(C) Proteins, nucleic acid
(D) Proteins, amino acid

18. Antiserum is

(A) blood serum containing specific
antibodies.

(B) blood serum containing specific
antigens.

(C) blood serum containing a mixture of
antigens and antibodies.

(D) blood serum in which antigens and
antibodies are both absent.

19. The commercial and scientific n:nethod of
bee keeping to produce wax and honey is known

as .
(A) Silviculture
(B) Sericulture
(C) Apiculture
(D) Pisciculture
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20. The waxy substance associated with the
wall of the Cork cell is mﬁ T TR 2B e & (NW'@T@‘ZI aAm
(A) Lignin
v A
(B) Hemicellulose (A) Froff
(C) Cutin (B) C{ﬁmw
(D) Suberin (C) frefm
(D) vprafz=
21. What type of plant fossil is a cast of a plant 21 e sienl Sfenm e 2” e T A
stem or I:af If\(;und in rock? qarea S Gram 2
(A) Mold
A) GIIFG
(B) Cast (B) %
(C) Carbon film (B) e
(D) Compression (C) o e
(D) ===

22. InC3 and C4 plants, primary carboxylation /22 C3 432 C4 Sfewm ifies SR

takes place with the help of ' -97 AR F |

(&) fa‘p;goxii‘;:eoxylse and_pyruvate (A) PEPIRRITTE R ARt IS

(B) RuBP carboxylase and PEP (B) RuBP 3fSieer 4<% PEP P
carboxylase (C) PEP FRfRiteTer @3k RuBP RS

(C) PEP carboxylase and RuBP (D) RuBP SRS 93k ABFCST
carboxylase RIS

(D) RuBP carboxylase and pyruvate
carboxylase

23. Peroxisomes are involved in which type of 23, ANARENN Bew TENFACIICER (I (T«
reactions pertaining to plant photosynthesis? ffere MR Tive?
(A) Calvin Cycle (A) @A 5
B) Glycolytic cycle '
(B) GlycoytiRe (B) 2RSS 5

(C) Glyoxylate cycle
(D) Bacterial photosynthesis (C) 2T 5T
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25. Which part of the car has no role to play in
hearing but is very important?

(A) Ear ossicles

(B) Organ of Corti

(C) Eustachian tube

(D) Vestibular apparatus

26. This substance cannot pass through
semipermeable walls of glomerulus—
(A) Globin
(B) Albumin
(C) Blood cells

(D) All of the above

27. Which of these is a disease of the myelin
sheath?

(A) Polio

(B) Leprosy

(C) Multiple sclerosis
(D) Alzheimer

28. Osphradium is found in the body of which
animal?

(A) Doris
(B) Sepia
(C) Pila

(D) Unio

29. Protonephredia is the excretory organ of
which animal?

(A) Earthworm
(B) Star Fish
(C) Tape Worm
(D) Nereis
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30. Gemmeules are found in the body of which
animal? -

(A) Tinea

(B) Sponge

(C) Obelia

(D) Paramoeccium

31. Which is not characteristic of the genus
Marsupialia?
(A) They have beaks but no teeth.
(B) Females give birth to babies.

(©) Immature babies
Marsupialia sacs.

grow up in

(D) Removal absent, vagina and uterus
two each.

32. Who proposed the fluid mosaic model?
(A) Watson and Crick
(B) Robertson
(C) Singer and Nicholson
(D) Daniel and Dabson

33. Which is the protein factory of a cell?
(A) Lysosomes
(B) Golgi bodies
(C) Mitochondria
(D) Ribosomes

34. The numerous tennis racket-like structures
found within the mitochondrial membrane are

(A) Spherosomes
(B) Oxisomes
(C) Ribosomes
(D) Mesosomes
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35. What is the genotype of intersex? TGS Wm
(A) 2A XXY (A) 2A XXY
(B) 2A XY (B) 2A XY
(C) 3AXX (C) 3A XX
(D) 3AXY (D) 3A XY
36. What are the growths from the mesoderm 36, GRS (A0F GP et =l i ;
that form a benign tumor? oY (4 SIIa J a7
(A) Sarcoma (A) Al
(B) Lymphoma (B) Gl
(C) Carcinoma
wrafAcT
(D) Leukemia © H
(D) fererasfmt
37. When the centromere is terminal to the 37, GEIEIEI G 2SR = OIS T
chromosome— it is called " (A) AR-GOIETGE
(A) Sub-metacentric = @
(B) Metacentric (B)
(C) Acrocentric (C) Spleele ”E l
(D) Telocentric (D) GEIGIGS

38. Circular DNA is found in which organelle?

/38. ST DNA “I\eql T @RS ?
(A) Lysosome

(B) Peroxisome (A) gl
(C) Mitochondria (B) ~Afoem
(D) Endosome (C) TRGRfE
(D) 9rsiTEy
39. What is the approximate age of the earth? 39/ G IREIE| Wﬁ?‘ T T T8
(A) 4.6 billion (A) 4.6 billion
(B) 6 billion , (B) 6 billion
(C) 4.6 million ©) 4.6 million

(D) 3.5 billion (D) 3.5 billiop




40. Which one is'the nitrifying bacteria?
(A) Pseudomonas
(B) Bacillus
(C) Nitrobacter
(D) Clostridium

41. Dudhwa National Park is located in which
State?

(A) Madhya Pradesh
(B) Uttar Pradesh
(C) Rajasthan

(D) Gujarat

42. Which of the following is not present in
eukaryotic cells?

(A) Cell Wall

(B) 80S Ribosome
(C) Nucleoid

(D) Cytoplasm

43. A bacterium capable of photosynthesis is
(A) E. coli

(B) Rhodopseudomonas
(C) Vibrio
(D) Diplococcus

44, In Plant cell cytoplasm is connected by
(A) Middle layer
(B) Desmosome
(C) Plasmodesmata
(D) Dyctiosome

MSC/LSC/IX-X/23
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45. Present in the nucleus of eukaryotic cells
but absent in the nucleus of prokaryotic cells—
(A) RNA
(B) DNA
(C) Histone
(D) None of the above

46. The main stored material in plant cells is
(A) Starch
(B) Insulin
(C) Zymogen
(D) Glycogen

47. What is missing in nucleoside?
(A) Base
(B) Hydrogen bond
(C) Phosphoric acid
(D) Sugar

48. Where does a crossing over take place?

(A) Between two homologous
chromosome

(B) Between two non-homologous
chromosome

(C) Both (A)and (B)
(D) None of the above

49, What is the name of the gene that causes
cancer?

(A) Carcinogen

(B) Oncogene

(C) Metastatic gene
. (D) Selfish gene

(

@ Tomifrsie T RO oS g
el e FOEHITT T —
(A) RNA
(B) DNA
(C) Histone
(D) Bt (ICAINE T

46. Tfem @Ied i AlwS T8 =
(A) C¥oA
(B) TP
(C) wiEGTE=
(D) aARIE

47. Fefperire @nb e ?
(A) TS
(B) GICEH TS
(C) T Snife
(D) =%

48. TR GO T T (@ 2
(A) 70 TIRE NI
(B) ¥ SPTRIE (RIS
(©) (A) €= (B) Tow
(D) THER IR 7w

49. TR ARIR i T siRzTw 2
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50. Atwhichstage ofcell division the separation
of the centromeres of chromosomes completed?
(A) Telophase
(B) Anaphase
(C) Prophase
(D) Metaphase

51. Which is not a primary cambium?
(A) Ground tissue
(B) Protoderm
(C) Pleurome

(D) Procambium

52. Living plant cells without a nucleus is
(A) Trachea
(B) Sieve tube cell
(C) Companion cell
(D) Tracheid

53. What type of vascular bundle arrangement
found in leaves?

(A) Mesarch
(B) Exarch
(C) Endarch
(D) Central

54. Sunken stomata are seen in which plants?
(A) Xerophyte
(B) Hydrophyte
(C) Mesophyte
(D) Halophyte

A-13
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(A) Gyt
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(A) Xerophyte
(B) Hydrophyte
(C) Mesophyte
(D) Halophyte
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55, Whatdoesitcalledif banyan leaves contains
Cystolith?
(A) Myrosin cell
(B) Lithocyst
(C) Idioblast cell
(D) Fibroblast cell

§6. Hemocyanin is
(A) Iron binding protein
(B) Copper binding protein
(C) Calcium binding protein
(D) Magnesium binding protein

§7. Scattered vascular bundles are found in
(A) Monocotyledons '
(B) Dicotyledons
(C) Gymnosperm
(D) Pteridophyta

58. What kind of plants are halophytes?
(A) Fire resistant
(B) Salt resistant
(C) Cold resistant
(D) Water resistant

59. Which rays are responsible for the green-
house effect?

(A) Infra-red ray
(B) UV ray

(C) Xray

(D) Gamma ray

A-14
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60. Viviparous germination is observed in
(A) Rice
(B) Reedy
(C) Rhizophora
(D) None of the above

61. Which of the following plant hormones

help in stomatal closure?
(A) Kinetin
(B) Gibberellic acid
(C) Indole butyric acid
(D) Abscisic acid

62. NPK are
(A) Nitrogen, Phosphorus, Potassium
(B) Nitrogen, Protein, Kinetin
(C) Nitrogen, Potassium, Kinetin
(D) Nitrogen, Protein, Potassium

63. TCA cycle enzymes are found in
(A) cristae
(B) outer membrane
(C) mitochondrial matrix
(D) mitochondrial inner membrane

64. __ breaks bud dormancy.
(A) Gibberellin

(B) Auxin

(C) NAA

(D) ABA
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(A) 4ita
(B) @fers
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62. NPK 2= :
(A) Nitrogen, Phosphorus, Potassium
(B) Nitrogen, Protein, Kinetin
(C) Nitrogen, Potassium, Kinetin
(D) Nitrogen, Protein, Potassium
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65. Which disease is prevented by BCG
vaccine?
(A) Typhoid
(B) Cholera
(C) Tetanus
(D) Tuberculosis

66. The extra chromosomal DNA of bacteria is
called
(A) Mesosome
(B) Plasmid
(C) Microsome
(D) Chromosome

67. Which of the following influences the
increase of rice production?

(A) Azolla

(B) Bacillus
(C) Agaricus
(D) Clostridium

68. The function of the nucleolus is
(A) mRNA storage
(B) RNA synthesis
(C) Chromatin storage
(D) Chromatin synthesis

69. The cell is not applied for
(A) Algae
(B) Bacteria
(C) Virus
(D) Fungi

65. BCG Vaccine (39 (15 afetatyiar e
(A) SRFIC
(B) Tl
(C) o™
(D) T

66. JIFIGR SffAE rmiEtmE & a7 -
&1 =

(A) TS
(B) #rifire
(C) SiZgeritan
(D) GFICICETS

67. RS 2 &N 4T Besiw I e
(A) Azolla
(B) Bacillus
(C) Agaricus
(D) Clostridium

68. FePeAIcR I\ =
(A) mRNA F%g
(B) RNA 3¢
(C) Chromatin #%Y
(D) Chromatin A<T8T

69. fsfRe @Ml it Age w27 33 w1
(A) T
(B) IR
(C) =i
(D) =%



70. Glomerulus filtration of nephron is
(A) Hyperfiltration
(B) Tindal effect
(C) Electrophoresis
(D) None of the above

71. Zymogen is
(A) Proenzyme
(B) Antienzyme
(C) Coenzyme
(D) Isoenzyme

72. Which organ secrets pepsin?
(A) Liver
(B) Small intestine
(C) Large intestine
(D) Stomach

73. The number of molecules produced in the
Krebs cycle is

(A) 14
(B) 24
(C) 20
(D) 12
74. secretes HC] in stomach juice.
(A) Parietal cell

(B) Chief cell
(C) Serous
(D) Mucus cell
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75. Which is the milk digestive enzyme in the
stomach of babies?

(A) Pepsin
(B) Trypsin
(C) Renin
(D) Chymosin

76. Where is Kupffer cells found?
(A) Spleen
(B) Pancreas
(C) Kidney
(D) Liver

77. Which one of the following sets of animal
share a four chambered heart?

(A) Amphibians, Reptiles, Birds
(B) Crocodiles, Birds, Mammals
(C) Crocodiles, Lizards, Turtles

(D) Lizards, Mammals, Birds

78. The Golgi complex participates in
(A) Fatty acid breakdown
(B) Formation of Secretory vesicles
(C) Respiration of bacteria
(D) Activation of amino acid

79. Dissolution of the synaptonemal complex
occurs during

(A) Pachytene
(B) Zygotene
(C) Diplotene
(D) Leptotene
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. Meiosis II performs
(A) separation of sex chromosomes
(B) synthesis of DNA

(C) separation
chromosomes

(D) separation of chromatids

<>

8

and centromere

of  homologous

81. Tricuspid valve is found in between
(A) Sinus venosus and right auricle
(B) Rightauricle and right ventricle
(C) Left ventricle and left auricle

(D) Ventricle and aorta

. Select the mismatch.
(A) Gas vacuoles — green bacteria
(B) Largecentral vacuoles—animal cells
(C) Protists — Eukaryotes
(D) Nucleoid — Prokaryotes

83. The apical meristem of the root is present
(A) only in radicles

(B) only in tap roots

(C) only in adventitious roots

(D) 1n all the roots

84. Emulsification of fat is carried out by
(A) Bile pigment
(B) Bile salts
(C) HCI
(D) Pancreatic juice

85. Which one of the following pairs is not
correctly matched?

(A) Vitamin B, — Pernicious anemia
(B) Vitamin By — Convulsion

(C) Vitamin B, — Beri-beri

(D) Vitamin B, — Pellagra
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86. Which one of the following is correctly
matched?

(A) Vitamin E — Tocopherol
(B) Vitamin D — Riboflavin
(C) Vitamin B — Calciferol
(D) Vitamin A — Thiamine

87. Acromegaly is caused by
(A) Excess of STH
(B) Excess of thyroxine
(C) Deficiency of thyroxine
(D) Excess of adrenaline

88. Test cross is carried out to ;
(A) determine the genotype of a plant at F,-
(B) predict whether two traits are linked.
(C) assess the number of alleles of a gene.

(D) determine whether two species or
varieties will breed successfully.

89. Industrial melanism is an example of
(A) Mutation
(B) Neo-Lamarkism
(C) Neo-Darwinism
(D) Natural selection

90. This is the basic unit in the eye of insect/
cockroach—

(A) Corneal facet
(B) Ommatidium
(C) Rhabdome
(D) Retina
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